EARAROBEEIERT — 2 N— IBISH —F

2012568178 (B) 4EIEH4H

m’Pi bbHbiER C3 %M EEE R
[AE4£] 1% :120,000  ~ 2#%:30,000 ™  33%&:15000 M . 43&:10,000 57 :6,000 @
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11y R :23. ~4-4- . — RECHE (BH)
i N PEY 47 s s 1(2_3)8 4-4-4-3 | 39.5 4 (4_631) zRl
AR d—A>F—7 B:NILAYIY B FHI77—L4
7 4 4 | BIFFRZIK 1:23.9 2-2-2-1 | 40.0| — 6 457 | NIEBE (&)
2 o | H¥—~UT ¥¢53.0 (1/9) g | EHBE
L:a2=—/xLLy b BU—FIAK-T RESS
3 iy — 5 | BIE 1:24.1 3-3-3-2 | 40.0| - 1 490 |HTHBR (BH)
3 4| TAN=Y 54.0 A (-5) | BIEER
L/ RKSvyy B/—-RJEI-I Elatse)
N hFEEd : -5-5- — BIFFES (FH)
alzl 7|72/ nune i 3 il 1.721151 4-5-5-5 | 39.8 3 42(1);5 IEH:‘E%-E
SLANA X2 - BixFRITA—> EE SIS
. N LHFE : —7—-6- — Arhfh— (FH)
5 617 SAENS v T — 4 4 a0 1.(234).7 6-7-6-5 | 39.8 7 ;1_332) MR
R:g=Z/X¥LLy N B:TS1HLI1— b HE77— L
—: . aA#Ht : === = HMETXR (SH
6lsls FoTRAL—> 5 G 1.(255).7 1-1-1-4 | 42.2 5 (4_477) gﬁis@ (&F0)
iD= KTPYa— Bitkdh NET 7— L
5 B o4 | KHAE 1:26.0 7-6-7-7 | 41.0| — 2 429 | MEEX (BH)
7011 |- TV 54.0 (1 1/2) -2 §§§$¥
LiANRINIZ B:Y—wlL—% =Eiztae-]
= _ 410 | EFRNE] 1:30.2 8-8-8-8 |43.7| — 8 481 | RURTEE] (SH)
8|55 |7y hT—I 56.0 (21%) 10 |BHET
L:7V>FFE2T1 By ITy bI— =E B
® I —F—@EBIERL
13=zr= 8,2,4,(3,7),6,1,5
Aol=5r= 8,2,4,3,7,1,6,5
G§a=7r= 8,2,4,3,7,6,1,5
43—+ — 2,4,3,8,(6,7),1,5
[ RN
BB 3 1,260 714K 2-3 1,200M B E 2-3 4,590 &R 2-3-4 1,410H
8 B 3 180M 3-4 220M B H 952 8,930M JEH 3-2-4 26,070
2 210H 2-4 400
4 110

ABICOVWTRDTEEERROODE. TR LIV,




